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P

PART -A
Antonyms

Directions : Each item in this section consists of a sentence with
options, (@), (), (©) and (d). Select the option that is ogpos;te in
mark your response in your Answer Sheet accordingly.

an underlined word followed by four
meaning to the underlined word and

1. The parental support can fortnfy a child’s | 6.  He had the audacity to blame him.

Jearning. (a) boldness
(a) weaken (b) vigour

(b)  encourage {er¥ temerity
(c) brace (d) politeness
@ strengthen

7. They are making plans for the abatement of
the nuisance within a specified time.
(a) subsidence

2. Now we can have another dazzling thought,
dazzling thov
as an outcome of my brﬂhant research!
(a) splendid

W) murky (b)  ebbing
(¢) dazing (¢)  accumulation
(d) fulgent \(® mitigation

3. The group held some clandestine meetings to 8. 'Ehere is exponential growth in the

resolve the matter. 1 t of the scientific researches in the
\er  secret recent few decades.

() covert (a) aggressive

(¢) sneaky (b) rampant

(d) public (c) meager

@7  augmented

4.  In the winters, the countryside view is bleak
and the house is drafty. 9 He was kno i
. wn for his sagaci
@ cheerless (a)  prudence —
(b)  verdant (b)  wisd
(¢)  desolate i o
@  bom ey ignorance

(d) sapience

5. Amid commotion the leader and his

supportérs remained passwe b ;he nlver Ganges culminates in the Bay of
(a) quietude engal D

(b)  uproar (a)  concludes

& tempest by  flows

@  stir (©)  originates

(d) merges
ASGT-F-ENG
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Spotting Errors

Directions : Each item in this section has a sentence with three underlined parts labelled (a), (b) and (c).

Read each sentence to find out whether there is any error in any underlined part. Indicate your response in

the A

ser Sheet against the corresponding letter i.e., (a) or (b) or (c). If you find no error, your response

should be indicated as (d).

11. Over long periods of time, layers of sediments builds up to a height of a few kilometers.
(a) (b) oy~
No Error
@
12. When a gasis _cooled down it turns into a liquid from a process called condensation.
(a) (b) et
No Error
@)
18. Ifyouwant toknow the news you can read a newspaper. No Error
(a) (b) e @
14. Columbus made his first voyage from Europe to America on 1492.
(@ W ©
No Error
()
ASGT-F-ENG (3-C)



ever the sky is clear, you can see the stars in the night. —O—E——Of Idioms and Phrases
dean . -
Directions : Given below are some idioms/phrases followed by four alternative meanings for each. Choose

15. When
Ler (d)
the most appropriate answer from among the options (a), (b), (c) or (d).

(a) (b
26. Sit on the fence

(a) Avoid meeting someone

& Waiting patiently

(¢c) Avoid taking sides
Hiding from someone

21. The lion’s share
(a) A portion of something
(b) The largest and the best part of
e ®) © @ something
i»)  Animportant decision @
(d) An aggressive statement

16. I'm not working tomorrow, soIdon’t had to getup early. No Error

27. Be as sharp as a tack
(a A t:«_ﬂk;i@ive person

17. Shedidn’t tell anybody about her plans. No Error 22. Spill the beans K
(@ &y © @ (a) Reveal a secret (b) A shrewd person
&) Forced to leave belongings () A clumsy person

) (& A clever person

(¢) Share the news

) 'ake offence at someone’s rude
0 28. From pillar to post

18. S ’ . ) behaviour
he wo::ln 't have has a:(;cmdent, if she had driven carefully. ena () Upside down
(c) 23. Cook someone’s goose (b) Keep moving from one place to another
No Error (@ To assist others () Constructing a huge building
) (b) Hypnotize other’s mind @  Jumping from the top of the mountain
(© To gpoil other’s plans
29. Heath Robinson

%@~ Inviting misfortune
’ (a) Very complicated system or machine for
doing a simple task

19.  Iwill watch film .
if . : ) i .
— Mk in time. No Error 24. Disappear into thin air (b) Treating everyone as enemy, when they
@ (b) & « (a) Lost forever are not
4 (b) Become forgetful (¢)  Sleeping all day, doing nothing
&)~ Very lazy person, slow in action

(¢) Become uncaring

&y Disappear suddenly
30. As thick as thieves

20, Ip 1989,
 the government g;
di
—————=_ment did an about o, and Iran restored it . (@
(a) T _Threstored it's family Planning program. 25.  Put the screw: Dumb person
! . s on
(b) — (b)  Good for nothing
(a) Forcing someone to do what you want () Someone who uses everyone fo
r

N
~oError ey

personal gain
&7 Keep the past alive (d) Very close friends who are looked upon
(d) Using someone’s trick for own benefit with suspicion

(b)  Never letting go of things

ASGT-F-ENG (5-C)
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66. Fefofes & & Fha, foda doft St
(Lever) 1 JETE00I 3 ?

@ (A pair of scissors)
\o(’bf T AT (bottle opener)
© FFe#H®R
@ o7y 3k i

67. et foga ooy 7, 100 v 71 w

ﬁgwm&'w#mﬁ@“wm
& A (original value) & gl
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(c)

)

(14-C)

68, fiifea TRGd A (circuit element) 3

iy fra 8 ?
R
R

(a) R2

() 3R

v 3R/2

(d) 2R/3

ST Rl % siwha Fetied d @
(i) wer 34 7

T T N —
2. ol ggwl w1 ww
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65.

67.

A mass is attached to a spring that hangs

vertically. The extension produced in the
h. The acceleration due

spring is 6 cm on Eart
rface of the Moon is

to gravity on the su
one-sixth of its value on the surface of the

Earth. The extension of the spring on the

Moon would be :

(a) 6cm

() lem

68.

(¢ Ocm

d 36cm

Which one of the following is an example of

Second Class Lever ?

(a) A pair of scissors

(b) A bottle opener

(c) A cricket bat

(d Abow and arrow

In an electric circuit, a wire of resistance 10

is used. If this wire is stretched to a length

double of its original value, the current in the

circuit would become :

(a) half of its original value.

()  double of its original value.
(¢) one-fourth of its original value.
(d) four times of its original value.

(15
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69.

70.

-C)

What is the total resistance in the following

circuit element ?
R

e e
R

(a) R/2

® 3R

(¢ 3R/2

) 2R/3

Which of the following scheme(s) is/are
included under Bharatmala Pariyojana ?
Develop the road connectivity to Border

1
areas

Development of coastal roads
3. Improvement in the efficiency of
National Corridors

Select the correct answer using the code given
below :

(a) 1lonly
(b)
(©

()

3 only
2 and 3 only

1,2and 3

Deendayal Port was earlier known as :

(a) Paradip Port

(b)  Tuticorin Port

(¢) Kandla Port

(d) Visakhapatnam Port
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76.
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(a) AwSdag
@) Cwg EREIS

(¢) Amw €y

(d) DfeSierary
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1L 3 oW S I ¥ |

2. AW ¥ 35 § o
e 3 % forg

3. T s % wdiE e A wf
g ot e e T |

9 T T e 8 e I g
W 1,23k3

Fad 2 3R 3

*ad 1

Had 2

(b)
(c)
d)

[\

74. Which one among the following states is the

71. Which one of the following statements about
X-rays is not true ?
(a) They have wavelengths of about 1A
(b) These can be generated by bombarding
a metal target by high energy electrons.
(¢) Dueto their wavelengths being shorter,
these can be used for radar systems. s
(d) These are also used for the treatment of
certain forms of cancer.
72. Which one among the following is the
northernmost geographical location ?
(a) New Delhi 76.
(b) Kathmandu
(¢) Thimphu
(d) Dhaka
73. Consider the following statements :
1. Distance between the longitudes | 7.
becomes zero on North Pole and South
Pole.
2. Distance between the longitudes is
maximum on the Equator.
3.  Number of longitudes is more than
number of latitudes. '
Which of the statements given above is/are
correct ?
(a) lonly
(b) 2only
(¢ 1and3only
(d 1,2and3
ASGT-F-ENG (17-C)

leading producer of Manganese in India ?
(a) Madhya Pradesh

(b) Jharkhand

(¢ Rajasthan

(d) Karnataka

Mica is mainly used in :
(a) food and beverage industry.
(b) iron and steel industry.

()
(d

aluminium industry.
electrical and electronic industries.

According to Koppen’s climatic classifications,
the Great Northern Plains of India have
which one of the following climates ?

Aw climate

Cwg climate

Amw climate

Dfc climate

(a)
(b)
(0
(d)

Which of the following statements about
Lachit Borphukan is/are correct ?

He was a General of the Ahom Force.
He is known for his leadership in the
Battle of Saraighat.

3. Lachit Borphukan Gold Medal is given
to the best cadet at the National

Defence Academy.
Select the correct answer using the code given
below :
(8 1,2and3
(b)
(c)
(d)

1
2.

2 and 3 only
1 only
2 only
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2 omeme ‘qEIR® (DUSTLIK) ¥ <t
a4l ST TR T T ?
o) THIG

oy TRF

(o fieikoe

@ W

&

79. g @ § ISRO gN1 ¥AR (launched) foram

T W geen et it W fwfa T
frefafea 4 @ sHar g 2

o) TRIEE (Skyroot)

(b) Y™ (Prarambh)

(c) = (Bazoomq)

@ FFAS (Vikram-S)

Frefefen 3 & fow o 9t g & 3§
I 247 ﬁszwmmaﬁﬁ‘;mg

™ ?
(a)

\b)
(c)
(d)

HraferRt, Rerer
T, o
mﬁm,mm
o, fere Ry

uF FEA G % §H COp F I 5
a1 4 (organism) T HEA & ? '

(@) @At
(wr war
hicici)

AHTH

()

()

Hw R 0, TURME (starved) Bt §
fopvaa (fermentation) H1 % @i i R FW
AT R | T6% TROTREEY T Ieqried BT &
ATP + CO, + THid

ATP + 0, + UTgeae

ATP + CO, + AfFs ufirg

ATP + 0, + ¥HRfeezse

(a)
(b)
(c)

@)

TF TR S % S, et franff 3
tferedl 93 B (epidermal leaf peel) &I T
faa Htm" ceifieic) (Hypertonic solution) #
fmfea | IV W R, 39 R 3

8L Feffen # ¥ frg
T Hi T
ﬁa“%,zozaﬁmaﬁ?jnﬁv ey 3 FIRE g
( : i b ¢ ;Sﬂg;ﬁa
a) IWREE (b) aﬁif T (plasmolysed) AT
[ORRE cf
(© 3 Rl 3
©  ToRmE pressure) SR | = (turgor
& IwowRy (@ mﬁﬁmsﬁaqw(%
S o1 | ) SR

(18-C)

The 4'F edition of joint military exercise | 82.

78.
DUSTLIK between the Indian Army and the
Uzbekistan Army was held in :
(a) Ranikhet
(b) Gangtok
(© Pithoragarh
(d Leh
79. Which of the following is India’s first privately
developed rocket launched by ISRO recently ? 83
(a) Skyroot
(b) Prarambh
(¢) Bazoomq
(d) Vikram-S
80. Which one among the following villages was
recently declared as India’s first 24 x7
solar-powered village ?
(a) Mawlynnong, Meghalaya
(b) Modhera, Gujarat
(¢) Ziro village, Arunachal Pradesh
(d Malana, Himachal Pradesh
84.
81. Tableaux of which one of the following States
was adjudged the best in the Republic Day
Parade, 2023 ?
(a) Uttarakhand
(b) Punjab
(¢) Gujarat
(d) Uttar Pradesh
ASGT-F-ENG (19-C)

Organisms capable of using COj as princy \}
ipal

carbon source are called :

(a)  Autotrophs

(b) Heterotrophs
(c) Parasites

(d) Decomposers

When yeast cells are Oy starved, fermentation
serves as the source of energy. This results in

the production of :

(a) ATP+CO,+ Ethanol

(b) ATP + O, + Pyruvate

(¢ ATP + CO, + Lactic acid

(@ ATP + Oy + Acetaldehyde

During a laboratory experiment, a student
immerses epidermal leaf peel in a hypertonic

the student

solution. After some time,

examined the cells under a microscope and

observed that :
(a) the cells swelled.
(b) the cells were plasmolysed.

(c) the cells built up turgor pressure.

(d) the cells size was unaffected.
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93. A sphere of volume V is made of

with lower density than wate R
Earth, it float et

5 ats on water with its volum
£,V (f; < 1) submerged. On the other hang, :
a spaceship accelerating with accelera;i;:,
a < g (g is the acceleration due to gravity on
Earth) in outer space, its submerged volume

> Two identical spring balances S; and S, are
connected one after the other and are held
vertically as shown in the figure. A mass of
10 kg is hanging from S;. If the readings on

S, and S, are W, and W, respectively, then :

oL % wdan FTER g, S I Sy, T F
o 5 g oo g crd 7 8, e
fm i | szﬁ_mkg#rwm
e g R 1 AR 5, S S, T F:

W, AW, L A
y Wﬁﬁﬁwgmm fzv% 14 in water is f,V. Then :
(@) fr=f (@) fo=f
Jo ® f=0-2f b f=1-2)f
— g g
W > (¢ fo>f)
a _a
@ f5= Efl @ fp= Efl
Wqﬁ (container), X 3R Y, T10q 94. Two identical containers X an.d Y are
) f TR connected at the bottom by a thin tube of
— g a9 W @% | % l W negligible volume. The tube has a valve in it,
AR F i U a1ed B, S e o F @l as shown in the figure. Initially container X
W%’mﬁmiiwh‘méaﬁ@ hasa.h'quidfilleduptoheighthinitan‘d
& W % aik container Y is empty. When the valve is
10kg gl T Y e | o e Ee 10kg opened, both containers have equal amount of
@ Wy=5kg 3 Wy=10kg Sl R, @ G uE A wEw owEn ¥ @ liquid in equilibrium. If the initial (before the
2 W (equilibrium) & BT 2 | o (@ @ W,=5kgand W,=10kg valve is opened) potential en'ergy of the I:iquid
® Wy=10kg 3R W,= @ . 1 2 is P; and the final potential energy is P,
2=0ke T % TR g A i o S
- P % ot o ;aarvﬁ () W;=10kg and Wy=5kg then :
1= Wy = 1 sifom feufas .
2=5ke P, () W, =5kg and Wy=5ke

@ W,;=10kg 3k W, =
17 10ke S Wa=10g X v @ W,=10kg and Wy =10kg

92. A stone is thrown horizontally from the top of
a 20 m high building with a speed of
12 my/s. It hits the ground at a distance R from
the building. Taking g = 10 m/s? and

20 mﬁ\ﬁq%m%w

oo e TR wis Ry
- A %ﬁqmgﬁam% .
zﬁm@aaamg.gj;ldmgﬁy
S 3 30 A Ve T, B o

3T B 2
(a) R=12 neglecting air resistance will give :
=12m
= (@ R=12m (@ P;=P,
J Rotee R= QO o e P2 (b] (b) P,=4P.
o) R=24m < ® P -gp, ) R=18m ) = 4P,
@ R=30m © P=gp, (© R=24m (© P, =2P,
ASGT-F-ENG @ po 8, (d R=30m (d P;=8P,
(23-C)

(22-c)
ASGT-F-ENG
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95.

- ¥ geR 9gd He i g
3 weAH = | 99. s 1 A
* fjns:nwtzw{??v?ﬂﬁ’ﬁ@% | 99 T’ yaﬁglaﬁa%?
m@ﬁmm%ﬁm*mm (@ ¥ T (Pleistocene) R sl
g O R ? (Pliocene) -
v () WPFE (Holocene) 3 I
‘(})/ r (Pleistocene)
w = ’ sk ~ T T (Pleistocene) R I
=’ .- (Miocene)
© %; ' ;\;o S @ 3fFE (Holocene) 3 MM (Eocene)
@ 0 100. et § @ B, R e W I
e 3F) % i
96. e 7 i (point mass) T I3 50 NF aﬁag?v ) % sl s A o
GESETHSHIE ek B ek ’
60° 3, T 38 72 fiig W Fdefer P @ I >geal > b > I
1 vfoor e e g 2 Mm>@>¥tﬁ>§};
o son © > T > el >
© 50N @ Y= > T > 9f > grela
@ 67N 101. Freifofan & @ Faah, sha w757 2 2
97. ﬁqﬁrf‘@ﬁﬁﬁﬁ:{.mvmﬁam.%? @) Rl siRfe ar
of i ' ® T R o
b we “or e
(© e
@ W d ¥E 9w
98. ﬁqﬁrfiaamﬁa 102, VSEICAEH (Podsolizat;
(Hyp‘)zj;m/ﬁﬁ?@%/gq 2 el W T 3 zation) Y f3ear yg@ &1
(Foc“s)%m“*ﬁ'sésh @ g
2 % w13 oy Lk ) T
a’mfmm *wmﬁm W
3. Py oy @ EemEmy
mqﬁéwﬁ gaﬁis@a“ il
ﬁ%ﬁ@ma@mmm 108 B W g g,
@ 13y I g . e o g Sword g3y S
® 2303 @ WA 3k ﬁ"“"l‘nmy
& woha ®r WA sy
@ Fq g © T W (Usa)
ASGT- (USA)WW
F-ENG @ ﬁimgm

Two forces of 5:0 N each are acting on a point

A particle is moving in a circle of radius R |99. In terms of geological time scale, the
with a constant speed v. Its average quaternary period consists of two epochs.
acceleration over the time when it moves over They are :
half the circle is : (a) Pleistocene and Pliocene
@ _v_z_ (b) Holocene and Pleistocene

R (c) Pleistocene and Miocene
®) _”V_Z_ (d) Holocene and Eocene

2R

ov2 100. Which one of the following is the correct
© TR sequence of arrangement of the given planets
@ 0 in desacending order of their density (in

gm/cm®) ?
Earth > Jupiter > Venus > Saturn

(a)

96.
mass. If the angle between the forces is 60° 3
then the net force acting on the point mass (b)  Jupiter > Earth > Saturn > Venus
has magnitude close to : (¢) Earth > Venus > Jupiter > Saturn
(a). 86N (d) Earth > Venus > Saturn > Jupiter
(b) 43N
(¢ 50N 101. Which one of the following is not a cold
d) 67N current ?
97.  Which one of the following is not an igneous (a)  Western Australian Current
rock ? (b) Eastern Australian Current
(a) Granite
(c) Benguela Current
(b) Slate
© Basalt (d) Peru Current
(d) Gabbro
102. The process of Podsolization is predominantly
98. Which of the following statements is/are found in :
correct ?
(a) Equatorial forest
1 Hypocenter is the point on the surface of
the Earth, nearest to the focus. (b)  Monsoon forest
2. Velocity of earthquake waves is higher (¢) Taiga forest
in denser materials. ]
3. P waves move faster and are the first to (@) Mediterrancanfarest
arrive at the surface of the Earth. . .
Select th v . ine the codd & 108. Joint Military exercise ‘Keen Sword 23’ was
belovcv ‘t e correct answer using the code given conducted between :
(@) 1and?2 (a) India and Japan
(b) 2and3 (b) India and USA
(© 1and3 (¢) USA and Japan
(@
) 3only (d) Japan and Taiwan
A
SGT-FenG (25-C)
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104. sz R (epic) RN AT T 75, TR
et s e g e A T
a7 o :
(a) 1948
“6) 1956
(c) 1962
@ 1972

105, ‘@ @ P22 (Exercise Sea Vigil-22' %
i 3 Freafeaa For W R AR :
1w S A g s a W F

8 5 9T o T 1 QAT A § |
2. USA 3 I # A ot 38 T
e g | =T
el w4 A v A
@ F@1
b ¥ 2
1ok 23
@ FA1LTR2

106, Frafem o w fram Bifo -

L ¥ wmm 3w 3 R 1cC T20
Waiﬁsﬁm| T

: m#@mm%ﬁym ™20
fora 37 3 0 e e g e
(Fmatpz e Fm O

T & e w A

@ w1

e w2

© 13k 23
@ 3d 1,742

107.ﬁﬁﬁf@ﬁﬁﬁﬁ?3‘§2022ﬁwmﬁ

mmmﬂa‘f%?
Ffem o, Ferest

) e fae

(c) i Heed

W F. 30 i

108, fer frfe Te % way # Frfated wH

w R AT
1 ey e fif IdeeRE #

9. Fa% Hif Py Igeag T A

3. itwl # S fifr T S a3
W IR N @ w HEE"
S (extracellular matrix) 81T & |

R e e e 1 v e e R

(a) Fa@2

b) ¥ 13K 2

o) Fae 13 g

@ 1,233

109 FEfifen & 3 aha dem s
Hifi (prokaryotic cell) & 7gF greft 7
@ Hfm Ry
) ey
© 5w
ud
}X( gy F (Plasma membrane)
- TR il o Tl
I DNAT & 5 ‘
(e 7 kR 3
Reticulum)
© TR e —
( "
9 Tl (Mitoch,

i3 femd s

S (Endoplasmi¢

ASGT.F_ENG

@ s o ondria) 3t gfera
: “‘"_’ﬁ (Vacuoleg)

104. The Battle of Rezang La, an epic battle in
hostile conditions, was fought by the Indian
Army in :

(a) 1948
(b) 1956
(c) 1962
d 1972

105. Consider the following statements about

‘Exercise Sea Vigil-22':
1. Its aim is to assess India's preparedness
in the domain of Maritime security and

coastal defence.
9. Naval forces of USA and Japan also
took part in the exercise.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢) Bothland2
(d) Neither 1 nor2

108. Consider the following statements :

107. Who among the following is not a recipient of
Nobel Prize in Chemistry in 2022 ?
(a) Carolyn R. Bertozzi

(b) Benjamin List
(¢) Morten Meldal
(d) K. Barry Sharpless

108. Consider the following statements regarding
cell wall composition :

1. Bacterial cell wall is made of

peptidoglycan.
2. Fungal cell wall is made of cellulose.

3.  Animals lack cell wall and have
extracellular matrix made up of sugar

and proteins.
Select the correct answer using the code given
below :
(a) 2only
(b) 1and2only
(¢) 1land3only
(d 1,2and3

109. Which one of the following structures is not
present in a prokaryotic cell ?

1. England is the only country that won
the ICC T20 World Cup twice.

2. Virat Kohli is the only player to be
adjudged as the Player of the Series in
the ICC T20 World Cup twice.

Which of the statements given above is/are

correct ?

(a)

(b)

(c)

(d)

1 only
2 only
Both 1 and 2

Neither 1 nor 2
ASGT_F_ENG

| -

(a) Cell wall
(b)
(c)
(@

Ribosomes
Nucleus

Plasma membrane

110. In a plant cell, which one of the following

contains their own DNA ?
(a) Nucleus and Endoplasmic Reticulum
(b)
(©]

(@

Ribosome and Golgi apparatus
Mitochondria and Chloroplast

Chloroplast and Vacuoles

(27-C)
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(b) 3R (Vairengte)

et

g (Mhow)

(c)
)

112, YeREs Sliﬁl (soil-forming regime) #, /& &
# oA T & w2,
el Frefefas 3 & - dar 2
(a) HEA (Calcification)
(b) ATAWEH (Laterization)
(c) UTSHEEA (Podsolization)
\Sﬂd’ AN (Gleization)

113. Frfafea § ¥ SWa, gedt & siawm
IR ST R ? '
(a) ﬁjﬂs FHA (Conrad Discontinuity)

) ﬁa I (Moho Discontinuity)

(©) ﬂmﬁ Bt (Guttenberg
Discontinuity)

@ aﬁﬂ? T (Lehmann Discontinuity)
114, fafafea & & S I8 wifa(at) e

Ty ®

1. 3% (Oak)

2. USIEFT (Rhododendron)

w3

|

?s/ﬁﬂﬂ_'lf\@ﬁ § @ wH-ar, FeaasEmEy S
e ‘3_\_'[ (lowermost/innermost 1'.m:z—|_|5i.',e
ifneous rock) & ?

ARITAT (Laceolith)
SNfere (Batholith)
TATT (Lopolith)
HHIAL (Phacolith)

(a)

. afe 78 gt F dvm F 12 W E, A e, Uk

o wwy g 2
(a) 6:30 A.M.
(b) 6:30 P.M.

(c) 5:30AM.

&y 5:30P.M. |

u7. @, 9o o Sz N feafafes § @ @b
i) o1 S (Spring tide) F R
ST 8 2

1. SYZYGY 3R (Conjunction)
2. SYzZYGY fgfy (Opposition)
3. Wiy (Quadrature)

8. UGS (Rosewood)
24 R o it g T:%mmwmaﬂaﬁm
(a) Fa1 !
o 233 ®) ¥ g
© 13K3 Ler™ 13k o
@ 13R2 @ 13k g
ASGT-F-ENG (28-C)

|

L

111. The Caunbe!‘.Insurgency and Jungle Warfare | 115,
School of Indian Army is situated at :
(a) Dehradun
(b) Vairengte
(¢) Gulmarg
(d Mhow

112. In the soil-forming regime, which one of the
following occurs in a region where
evapotranspiration  exceeds precipitation
significantly ?
(a) Calcification 116.
(b) Laterization
(¢)  Podsolization
(d) Gleization

113. Which one of the following is found in the
innermost part of the Earth ?
(a) Conrad discontinuity
(b) Moho discontinuity
(c)  Guttenberg discontinuity 117,
(d) Lehmann discontinuity

114. Which of the following tree species is/are
found on Himalayas ?
1. Oak
2. Rhododendron
3. Rosewood
Select the correct answer using the code given
below :
@ 1 only
®)  2and3
(© 1ands
@ 1and2

Al 29-C)

SeTF.eng (

e R N

ruv&"eilnos(;‘;ne::)os::tmizgzvivmg o e
igneous rock ?

(@)  Laccolith

(b)  Batholith

(¢) Lopolith

(d) Phacolith

If it is 12 noon in New Delhi, what will be the
time in London, UK ?

(a) 6:30 AM.

(b) 6:30 P.M.

(c) 5:30AM.

(d) 5:30P.M.

Which of the following positions of Sun, Earth
and Moon is/are suitable for Spring Tide ?

1. SYZYGY Conjunction

2.  SYZYGY Opposition

3. Quadrature

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

() land2

@ 1land3
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ns.ﬁﬁagwfmwriﬁqmwﬁiww 122.
(The Last Supper)’ fufya frm & ?

& W@@ (Michelangelo)
M1 (Donatello)

(© W Botticelli)
@ TrnEa =it (Leonardo da Vinci)

(b)

119, FrefiRea § @ fea gt Gowndl 3 AFaH
R faom @ i ? -

\ar arh! f& T (Vasco da Gama)

(b) ey f&aT (Bartholomew Diaz)
AT (Magellan)
T I3 (Herndn Cortés)

(c)
(d)

120. wRa # Frefafad § ¥ frg T
mﬁwmmgﬁ?w
(a) HEA
) g (Ropar)
g fem
@ =g

121. I H @l Feffea § @

(a) o Fierafl gg
(o) HH Ig-
(d) HiE-HIST I

ASGT-F-ENG

(30-c)

meﬁwwﬁnﬁsmm%mﬁ’ﬁ
o fmrd & AT 3 & (plan allocatig
g daadta disAT § I o ? K
(a) @l qeETa AT
() et Gea A
\or” o daTa T
(@) fedf deaia @smn

123. UN COP-27 Rrgt-amiers forerd e 2 2

(b) AT 3 AThaTG- Y

(counter-terrorism)
(¢) Ty TiEd
FuIc]

)

124'“1-@%3?("{?@3@[}? rﬂ

¥ frasr
SR AP i geaeT & a el
I W H (earliest known association)

q1?
@ wwd
Wy T

ey

Sriferan

(c)

)

/

»

inted ‘The Last | 122, P]
. Plan allocation in agri
griculture and irrigt;
gation

artist p
as percentage of total plan outlay was highest
P ighes|

118, Which Renai

Supper’ ?
(a) Michelangelo in:
p) Donatello
(b) (a)  Seventh Five-Year Plan
(@ Botticelli
(b) Third Five-Year Plan
(d Leonardo da Vinci
(¢) First Five-Year Plan
(d) Second Five-Year Plan

119. Which one of the following European explorer
conquered Mexico ?

Vasco da Gama

(a)
() Bartholomew Diaz 123, The UN COP-278 ¢ relates to:
() Magellan

(a) Russia-Ukraine war
(d Herndn Cortés

(b) Terrorism and counter-terrorism

120. Near which one of the following cities in India (¢) Climate change
ues of Kushana rulers been
(d Interpol

have large stat
discovered ?

(a) Karnal
(b) Ropar ) »

P 124. Which one of the following tribes from India’s
(©)  Hisar North-East had the earliest ~known
(d) Math association With cultivation and production of

athura
tea ?
121 The Treaty of Yandabo Was concluded 38 part @ Khasis
of which one of the following W2 ?
Garos
(@)  First Anglo-Burmese War ()
(b)  Second Anglo-Burmese War () Singphos
@ Jayantias

(c)

Anglo-Kuki War
War

(31-€)

@  Anglo-Marathd

ASGT‘F-ENG




125. fFrfafen § & form dfoum-aer oq,
wd=il ¥ waftm e 61F B MW F
wferem F siq ey foRar TR ?

Ctary” T (42at Goe) srffan
(b) WRYM (44af Teee) ififEm
(©) dRy (85at Ty Afufrm
(@) @i (9zat gaem) ffem

126. Freaferian # 3 Fa o A 7

ey S 9. o e, 9o W s
SEEwmisfet . T

et R <A Hl Tocd o, FgHT W et
FRETa s <

(b)

() g W Yot e 7 IR geft w
SIgHT 1 Tocd ol IRA § qUR & 3R
wdEfamd g -

=S W Y F e a9 i geEt w

AT T e 7 9w e 3 fig
feradra feamesi 4

(d)

@ fagd s 220V 3k sow ¥ =g &
ARG (rated) & | 59 & 110V W g

o S 2, & s Tyt (power rating)
1 I ?

Gy~ 80W

127.

(b) 60W

(c) 40W

d 20W

ASGT-F-ENG

128, T WO FT F B G I v o
et #, frefofed # @ SR ad 2

Waramwﬁ afts feafera _ﬁme%
wife sw 7 99 THw H ﬂm
ifrra B '
A v TR At FEfm @ g,
wife rem o et s 1 =1 ity
qreft 3
e S wea At faefea @ g
Hith fen § a@ THE A T =
At 2
fren s e s faafo @ R,
wifs 59 § fiet g it T =@
Bt 3

(b)
(c)

(d)

few ¢ wrerm § el i e & forg Frfatea

¥ PO 2

(a)'mﬂmﬁfﬁmaﬁﬁmwﬁ
& 2

L I R ey B e ST

(© TR AERE W af i O eEFa
& Bt 8 )

)] E?HIWW{WE[
e -

129.

H = EEa

_—

130. Frferfaa & & i gl (defem) 3 F99@
Zdo B @ ?

Mﬂ?ﬁt—ﬁa@q
(b) SR T

el Tl
@ e (Schmidt) e

(c)

(32-C)
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181, ordifim o A
g 2 fis g i (el

g B i A 8

@ s o s 1 g 3w T

(oﬁspring)aa_ﬁ:ﬁﬁ%ll
O Ty s w A
Y g@aﬁma@aﬁﬁﬁﬂ@ﬁﬁi
@ mﬁﬁaﬁﬁﬁﬁiﬂﬂﬁ%|

132, Freffen 3 & SR S @1 @ Hed

ﬁﬁmﬁﬁ;g_ﬁmﬁmwﬁ'@m?
@ i iy :
(b)  fiaged e

e HIRHEA (cytoplasm)

@ ataaﬁmqam

133. % T F TG (browning) B Frd T

TR o o g R 0

@ i
(b) Wwﬁmm

e ﬁmﬁ»wmm

@ ﬁamemm

134. W-ﬁm@x@ﬁqﬁmw%ma

Wﬁm@aﬁmw%?
@ H, 3R, My, 33
(b) ﬁﬁ?&{}q@;{m
L&ff %’%Y%‘%},@q
@ améqqa”@hgm

ASGT-F-ENG

mmww@m
) & i o A

Waﬂﬁﬁﬁ@aﬁmm% Akt

33 P 3R S, ol oy
135, ;ﬂ?ﬁ"’wﬁmﬁ%mmmg?

(a) mﬁ%ﬂm

() Wiﬁq

@ R T T I

o v e & g T R
e oy 8 o & | e e 4
£ YR 1 AR T F DR 2

(a) GeheH ARl
\gy  weed Affea
() lowame sifsean
(@) o st

187. & % WA & foe Fraffea § ¥ S vgh
T
o ST g (S W) ¥ w7
@

(®) T F 7 8 v
© e % odq v
@ 9% 5§ gy

13&§§mjammfaﬁmﬁa
(a) mmﬁmﬁm
(b) W"'%Wﬁ
() ngﬁﬁmm
wiﬁﬁm%w%ﬁmﬁmﬂ

(4-c)

N

181 One advantage of sexual reproduction over

182.

183.

Asar.,

,,\;

- Which of the hydrocarbons are arranged as

asexual reproduction is that it helps species to
survive over long evolutionary time. This is
because sexual reproduction produces :

(a) more offspring in each reproductive
cycle.

(b) robust and healthy offspring.
(c) genetically similar offspring.

(d) more variation in offspring.

Which one of the following structures or
components is not always present in living
cells ?

(a) Cell wall

(b) Plasma membrane

(© Cytoplasm

(d) Genetic material

Browning of the chopped apple can be
minimized by :

(@) using table sugar.
(b)  preserving in a container.
(¢)  using lemon juice.

(@) using milk of magnesia.

Per the increasing order of their boiling
Points ?

@) Methane, Butane, Propane, Heptane
® Propane, Butane, Pentane, Octane

© Propane, Butane, Heptane, Methane

@ Octane, Ethane, Methane, Propane

F-ENg

(35—

135.

136.

137.

138.

C)

Which one of the following apparatus is used

for separating benzene and water mixture ?
(a)  Round bottom flask

(b)  Conical flask

(¢)  Separating funnel

(d)  Dean and Stark apparatus

An iron nail dipped in copper sulphate
solution turns brown. This is due to which one
of the following types of reactions ?

(a)  Addition reaction
(b) Decomposition reaction
(¢)  Substitution reaction

(d) Displacement reaction

Among the following, which is not the correct
method for keeping the curd ?

(a) Keeping in stainless steel vessel
(b) Keeping in copper vessel
(c) Keeping in plastic vessel

(d) Keeping in glass vessel

Toothpaste prevents tooth decay by :
(a) neutralizing the excess acidity.
(b) means of emulsification.

(c) the action of fluoride.

(d) making a coat of calcium over the teeth
surface.



139.@?%%%«311@5@3@ 14
off? '

(a) R fogde &

(b) VTG BIY A A

(© g e J

\ 1893 1894 % frem folie &

14o.maaﬁm(mm)%aﬂﬁﬁﬁmaﬁ
AFm AT '
@ ¥ F o RufE B e EkRd
o o |
(b) EHRIE: I (ancestry) % MUK R T8«
fgema -
WW%RWW@W(Z&)
qE GATHR YT g giea fe

WTHTW]( _&
@ wEEeR S st Twe § yTam T
e e e |

141. 99 & fFE TR 9@ W fRw dug §
FRfET B A e Ay
e~ el Foarsd
(b) T MG (Vansittart)

(0) oA W
@ e HHara"

o T
(a) REw
(b) C T
oy foemEen
d) wFHifereE

ASGT-F-ENG

e & @ R8T Y A 3 g
e st e, A A2 '
(a) wgel

(ORREEREN

oy Tl

@ was

3.

144, Frefifae § & Frw wF W WA # P A
¥ oot wdt S ?

(a) W(Chinsura)
(b) TSRS (Karaikal)
Loy TR (Mahe)

(d) ZRIE (Tranquebar)

ﬁmmcn,fﬁw@mﬁ e g
& T T ge 3, Fred A o B WA T A
F: 2f 37 3f 1 gl W E, 9 AB YU FE
R &, S 5 fo # qutar wn & 1 7 0 S
ar SRfE= ABOD TR | B'C H AD
EEc kLSS .

(a)

-

(b)

(c)

Wi o= N

189. Freedom ) fighter Kanaklaty B
martyred in :
(a) Sepoy Mutiny

arua  wag

() Quit India Movement
(¢)  Non-Cooperation Movement

(d) Peasant Uprising of 1893 - 1894

140. Which one among the following statements | 144

about the Mansabdari system is correct ?

(a) All army allotted
mansabs.

troopers were

() Mansabs were usually assigned on the
basis of ancestry.

(¢) Position and salary of mansabdars were

indicated by a numerical designation 145.
called zat.
(d Mansabdars were never paid in cash.
141. Which Governor General of Bengal underwent
i hment pr di in the British
Parliament ?
(a) Robert Clive
(b) Henry Vansittart
(c) Warren Hastings
(@ Lord Cornwallis
2. Who among the following composed the
‘Prayag Prashasti’ of Samudraguptd ?
(@) Harishena
(®)  Chand Bardai
(©)  Vishakhadatta
@  Kalidasa
(37-C)

ASGT'RENG

143,

Which one of the following kingdoms was
founded by the two brothers Harihar and
Bukka ?

(a) Bahmani

(b)  Vijayanagara

(¢) Malwa

(d) Maratha

At which one of the following places did the
Danes establish their settlement in India ?

(a) Chinsura

(b) Karaikal

(c) Mahe

(d) Tranquebar

A rectangle ABCD is kept in front of a concave
mirror of focal length f with its corners A and
B being, respectively, at distances 2f and 3f
from the mirror with AB along the principal
axis as shown in the figure. It forms an image
AB'CT in front of the mirror. What is the

ratio of B'C’ to AD’?

(@ 1
(b)

(©)

Wi o= N

(Y]



146. f # § wiaw o XY 3 YZ XY L YD)
e T §, S ot R woaR ¥ 1T o
Tt T @ 6 3 A T gdu |y R
foror Tedt 3 o 3w % aRoTHEE
T T T F TR TEd g @ | 3
3t it @ s R Xyz A Sm e @
g W R, S fF oewlwm omn R
Ry, W wwafdd R g wEfia
RO A0 oW R 1A, )

X'
\ X
\
\
\\
\ Pt z
\ PR
\ -
V P 9
Y z
(a a=0
b)) a=6
() a=26
d) a=48

147. Mlmaﬂ@iﬁﬁfﬁ(wﬁ
Fﬁ‘ﬁwzﬂwamvlénﬁwng}m@)—;;
A%, 9 F R i w9 @ 9w W
Tt 2, fowd AT g M, iR T v
B et 2 | 78 W T B i v @

148, T digl & fre FElfEm § g

L AT .

o> WA FUR (blowing jet) T T T &y
I W (note) H Fwr B Fuffg
w@TR |

(b) 9 SR (blowing jet) T G 1 T
I, I TR (note) F A (pitch) H
- fuffa s R |

© gt F AW o FHEE 9y @™ Y
iy o R | ’

@ W'fﬁﬁﬁiiﬁm.%ma'fgﬁ%wﬁaﬁ
T M 9 W @ sy o7t 8 |

149, Rl @ WM § ©F 47 AW (charge) S
H 3 TR, o g 8 IR R
3l iy R | e ey W

@ 3 R S i i e e |
® o i i i s i |

© S o A s e wer et |
@ Rl w7t e |

2 o A 3 o ot oo 8, v | R R gy
N b T TR A T T s 4
@ vy=v, @ &

(b %Mlvf < 1wy ) sty

ey Myv; = Mgy, B BT T

mm
d M;v; <Myvy (@ A
ASGT-F-ENG (38-C)

, Shown in the figure are tw, :

146 ond Y2 (XY L YZ) joined thli}i):;m:irrors Xy
shown is a light ray falling on ;ege.fAlso
mirrors and reflected back paralle] ‘;o t‘}::
original path as a result of this arrangemexln
The two mirrors are now rotated by an angle'
9 to their new position X'YZ', as shown. As a

| result the new reflected ray is at an angle o
from the original reflected ray. Then :

(a)
(b)
(e)
@)

147, A railway wagon (open at the top) of masSVM1
along a straigh?

is moving with speed V1 ime i
track, As a result of rain, after some time hxt
gets partially filled with water SO that tez
mass of the wagon becomes M andfzsa.lpljﬂg
becomes v, Taking the rain to _bede the
vertically and water stationary insi v
wagon, the relation between the owo SPES

and vy is:

@ vy =vy

b Llpoy? <X My
2M1v1<2 2V2

(e) Myv; = Mgve

@ My, <Msv2 (39-C)

ASGT‘F-EN G

148.

149.

150.

‘Which one of the following statements is not
true for a flute, a musical instrument ?

(a) Momentum of waves on the blowing jet
determines the loudness of the produced
note.

(b) Arrival time of the waves on the
blowing jet determines the pitch of the
produced note.

(¢) Sound comes from a vibrating column of
air inside the flute.

(d) Sound comes from a vibrating column of
air inside as well as outside the flute.

arge is moving towards south in

A positive ch:
n the

a space where magnetic field is pointing i
north direction. The moving charge will

experience :
(a) a deflecting force towards north
direction.
(b a deflecting force towards east direction.
force towards west

@© a deflecting
direction.
(d no deflecting force.

‘Which one of the following is not a main
greenhouse gas?

(a) Water vapour

(b Oxygen
(¢) Car bon dioxide
(@ Methane
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